Odd Factorials

Submission deadline: December 28th 2021

Find

1 1 1 1 1 1
1120200 T 32018 T sotel T T 20174 T 2019121 T 20210

The problem was solved by

e Muhammed YUKSEL, Hacettepe University Automotive Eng-Mech. Eng,
Ankara/Turkey

e Ruby Merlin Pinto, Mangalore University, India.

e Hari Kishan, D.N. College, Meerut, India.

o Ahmet Yiiksel, Aydin, Turkey.

e Merdangeldi Bayramov, Tiirkmenistan.

e Atakan Erdem, Middle Fast Technical University, Ankara, Turkey.



Discussion;
For 0 < k < n, let "Cy =
that

n!
x From Binomial theorem it follows
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Subtracting the second equation above from the first results in
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